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Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 (A (a) Explain principles of surveying 03
(b)  Differentiate between 04
(i) Map and Plan
(i1) Plain scale and Diagonal scale
Q.1 (B) The distance between two points ‘P’ and ‘R’ measured along a slop is 250 m. 07
Find out the horizontal distance between points ‘P’and ‘R’ if
(i) The gradient 1 in 10.
(i) The difference of elevation is 40 m.
Q.2 (A) A 20m chain was found to be 10 cm too long after chaining a distance of 07
2000m. It was found to be 20 cm too short at the day’s work after chaining a
total distance of 4000m. Find the true distance.
Q.2 (B) Draw a neat sketch of Prismatic Compass and label all parts , also state 07
functions of each parts

OR
Q.2 (A) The following bearing of closed traverse ABCDE. 07

Line Bearing
AB 140°30°
BC 80°30°

CD 340° 00°
DE 270° 30
EA 230° 30

Calculate the included angles and check by the equation of interior angles.
Q.2 (B) Construct a diagonal scale 1cm =5 mt. Represent 35.7 mt length on the scale 07
Q.3 (A) Differentiate : 07
(1) Whole Circle bearing and Reduced bearing.
(2) Prismatic compass and surveyor’s compass.
Q.3 (B) The following consecutive readings were taken with a dumpy Level and 4.0 mt. 07
leveling staff on continuously sloping ground at a Common interval of 30.0 mt.
0.58,0.95, 1.95, 2.87, 3.70, 3.98, 0.92, 1.35, 1.68, 3.45.
First reading was taken on B.M. Take B.M =100 mt.
(1) Prepare Page of level book.
(2) Calculate R.L of all points by rise and fall method.
(3) Apply usual Arithmetical check.

OR
Q.3 (A) Explain various types of scale. Describe characteristics of Ideal scale. 07
Q.3 (B) Anplanrepresents an area of 15206 Sq m and measures by 9.0 x 6.6 cm. 07

Find out R. F. of the scale.



Q4 (A What is local attraction ? How does it affect compass survey? 07
Q4 (B) 1) The magnetic bearing of a line was found to be N 60°30° W is 2003 . 07
When the declination was 6°10° E, find its present magnetic
bearing of declination is 4° W at present.
2) Convert the following W.C.B. to Q.B. or R.B.
(i) 52° 15 (ii) 150°15°

OR
Q.4 (B)  Define Leveling, B.S., F.S.,1.S., T.P.,, B.M., R.L. 07
Q.5 (A)  State uses of plannimeter and find out area of a figure from the following 07

data taken with plannimeter.
I.R. =3.421, F.R. =9.445, M= 100sq.cm., C=21, N=2.

Q.5 (B)  State advantages and disadvantages of plane table surveying. 07
OR
Q.5 (A)  The following readings were obtained by planimeter when a figure was 07

traversed clock wise with anchor point out side. The zero of counting disc

passed the fixed index mark once in the clock wise direction. Take M = 100 sq cm.
Initial Reading= 8.489

Final Reading= 1.828

Calculate the area of figure.

Q.5 (B) List various accessories required for plane table survey with their uses. 07
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